

The following documentation is an electronicallysubmitted vendor response to an advertised solicitation from the *West Virginia Purchasing Bulletin* within the Vendor Self-Service portal at *wvOASIS.gov*. As part of the State of West Virginia's procurement process, and to maintain the transparency of the bid-opening process, this documentation submitted online is publicly posted by the West Virginia Purchasing Division at *WVPurchasing.gov* with any other vendor responses to this solicitation submitted to the Purchasing Division in hard copy format.

NOASI	S			Jump to: FORMS	술 Go	👧 Home	& Personalize	Accessibility	P App Help	C About	t 👔
come, Lu Anne Cottrill			Procure	ment Budgeting Accou	ints Receivable	Accounts	Payable				
citation Response(SR) Dept: 0603	ID: ESR051221000000	007608 Ver.: 1 Functi	ion: New Phase: Final	Modified by batch ,	05/13/2021						
Header											
									2	List View	7
General Information Contact De	efault Values Discount	Document Information	Clarification Request								
Procurement Folder:	876620			S	O Doc Code: C	CRFQ					
Procurement Type:	Central Purchase Order				SO Dept: 0	603					
					SO Doc ID: A		26				
Vendor ID.	VS0000022583	2					50				
Legal Name:	ROSE HOLDINGS LLC			Pul	blished Date: 5						
Alias/DBA:					Close Date: 5	/13/21					
Total Bid:	\$69,100.00				Close Time: 1	3:30					
Response Date:	05/12/2021				Status: C	Closed					
				Solicitation	Description:	Addendum No	0.1	~			
Response Time:	15:53					Limestone Gra	avel- Camp Dawso	n 🗸			
Responded By User ID:	Aceaggregates			Total of Header A	ttachments: 0)					
First Name:	Δίον			Total of All A	ttachments: 0)					
Last Name:	Wolfe										
Email:	awolfe@aceaggregatesll										
Bhonoi	304-842-9050										
Phone.	304-842-9050										



Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

State of West Virginia **Solicitation Response**

Proc Folder:	876620	376620					
Solicitation Description:	Addendum No.1						
Proc Type:		imestone Gravel- Camp Dawson Range Program Central Purchase Order					
Solicitation Closes		Solicitation Response	Version				
2021-05-13 13:30		SR 0603 ESR05122100000007608	1				

VENDOR					
VS0000022583 ROSE HOLDINGS LLC					
Solicitation Number:	CRFQ 0603 ADJ2100000036				
Total Bid:	69100	Response Date:	2021-05-12	Response Time:	15:53:20
Comments:					

	FOR INFORMATION CONTACT David H Pauline 304-558-0067 david.h.pauline@wv.gov	THE BUYER		
Vendor Signature X FEIN# DATE	Vendor Signature X	FEIN#	DATE	

All offers subject to all terms and conditions contained in this solicitation

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
1	1 1/2" Crusher Run Limestone Pringle North Road Location	800.00000 TON		22.000000	17600.00

Comm Code	Manufacturer	Specification	Model #	
11111611				

Commodity Line Comments: Quantity for line item can be delivered in one day if needed, or spread out over several days as needed but notice the day before is appreciated.

Extended Description:

1 1/2" Crusher Run Limestone- Delivered to the jobsite at the Pringle North Road Location in Dump Truck, material will be tailgated as directed by on site personnel

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
2	AASHTO #1-3" Limestone-Pringle North Road Location	100.00000 TON		24.000000	2400.00

Comm Code	Manufacturer	Specification	Model #	
11111611				

Commodity Line Comments: Quantity for line item can be delivered in one day if needed, or spread out over several days as needed but notice the day before is appreciated.

Extended Description:

AASHTO #1 3" Limestone gravel- Delivered to the jobsite to the Pringle North Road Location in Dump Truck, material will be tailgated as directed by on site personnel

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
3	1 1/2" Crusher Run Limestone-Pringle South Location	600.00000	TON	23.000000	13800.00

Comm Code	Manufacturer	Specification	Model #	
11111611				

Commodity Line Comments: Quantity for line item can be delivered in one day if needed, or spread out over several days as needed but notice the day before is appreciated.

Extended Description:

1 1/2" Crusher Run Limestone- Delivered to the jobsite at the Pringle South Location in Dump Truck, material will be tailgated as directed by on site personnel

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
4	AASHTO #1- 3" Limestone-Pringle South Location	1000.0000 TON		25.000000	25000.00

Comm Code	Manufacturer	Specification	Model #	
11111611				

Commodity Line Comments: Quantity for line item can be delivered in one day if needed, or spread out over several days as needed but notice the day before is appreciated.

Extended Description:

AASHTO #1- 3" Limestone Gravel- Delivered to the jobsite Pringle South Location in Dump Truck, material will be tailgated as directed by on site personnel

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
5	Rip Rap Limestone-Pringle North Road Location		000 TON	25.000000	2500.00

Comm Code	Manufacturer	Specification	Model #	
11111611				

Commodity Line Comments: Quantity for line item can be delivered in one day if needed, or spread out over several days as needed but notice the day before is appreciated.

Extended Description:

Rip Rap Limestone- Delivered to the jobsite to the Pringle North Road Location in Dump Truck, material will be tailgated as directed by on site personnel

Line	Comm Ln Desc	Qty	Unit Issue	Unit Price	Ln Total Or Contract Amount
6	Rip Rap Limestone-Pringle South Location	300.00000 TON		26.000000	7800.00

Comm Code	Manufacturer	Specification	Model #	
11111611				

Commodity Line Comments: Quantity for line item can be delivered in one day if needed, or spread out over several days as needed but notice the day before is appreciated.

Extended Description:

Rip Rap Limestone- Delivered to the jobsite to the Pringle South Location in Dump Truck, material will be tailgated as directed by on site personnel